
Hence 42, 03 are lively dependent

-

A reason
toce about liven independence :

Suppose a s--; 94 are livenly independent.

Suppose x = B , a+... + Br4k
Claims. Bj=

Suppose also X = B ,
a+ .... &K 9/ for all j .

0 = (B, -)a+.. - + (px
-Bx)a

Each coefficient must be O because the ass are

livenly independent ,









If you have a bases
an- -, as forA

than every vector in M can be written as

a vacque linear combination of the aj's

a : [i] a = [i] form
a
basis

for R2

2, : [6] e2 = [i] forms
a basis

for I














